far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

S F54E8 H K H BILfE
HT HK A0 (58) A (40) UNEINGY!
H #HT 480 400 391 791
AT 1,789 1,672 1,799 3,471
JHET 988 904 834 1,738
== 1T 1,265 997 1,058 2, 055
FFHT 1,957 1,808 1,907 3,715
JTHT 1, 652 1,703 1, 844 3, 547
i 837 926 969 1,895
A AET 612 517 566 1,083
At ZEHT 894 865 892 1,757
BT 690 626 620 1,246
HAET1 T H 887 847 846 1,693
HARET2 TH 803 785 763 1,548
PEFTIR 1 T H 2,196 1, 846 1,969 3,815
VEETIR 2 T H 973 873 913 1,786
FEET1TH 1,574 1,308 1,663 2,971
T2 TH 1,243 951 1,113 2, 064
kAT 3 T H 1,422 1, 428 1,517 2,945
T4 TH 2,846 2,651 2, 860 5,511
SRHET 929 895 943 1,838
FRAEHT 1,218 1, 161 1,243 2, 404
EFIT1 TH 512 447 494 941
EFET2 TH 779 849 795 1,644
KT 3 T H 730 717 706 1,423
EKFHT4 TH 211 216 201 417
EJFET5 TH 475 453 196 949
AbFTIR AT 1,110 1,141 1, 080 2,221
[ B AT 1,588 1,659 1,788 3, 447
FiEs 1,202 1,248 1, 300 2,548
E1TH 432 466 498 964
tE 2 TH 625 740 746 1,486
tE3TH 481 541 530 1,071
EE4 T H 403 514 495 1, 009
FAZENT 1,406 1,054 1,098 2,152
=L 721 700 732 1,432




far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

S F54E8 A K H B/
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,024 837 1,027 1, 864
ERNET 909 980 1,005 1,985
KETHH 166 94 152 246
[icg gzl 886 930 885 1,815
HOHTHHT 1,008 1,089 1,071 2, 160
KFEHE 1,747 2,036 2,021 4, 057
KFFRIL 1,513 1,537 1,596 3,133
Al - /N 6, 165 6, 367 6, 355 12, 722
KT TNLEm 4,923 5, 379 5,375 10, 754
KR EE 4,775 4, 577 4, 627 9, 204
WAL 961 797 842 1,639
[EREa 502 411 411 822
S 1,497 1,361 1,463 2,824
EoE1TH 543 535 505 1,040
BEo=2TH 715 639 650 1,289
KFEA K 4,788 5,026 5,042 10, 068
KFEFIE 3,405 3,641 3, 657 7,298
KFA 11,044 11, 540 12, 087 23,627
K7 Eilin 2,017 2, 066 2,055 4,121
/INFFRET1 TH 2, 637 2,328 2,715 5,043
/INFFRET2 TH 1,288 1,235 1,215 2, 450
/INFFRET3 TH 2, 434 2,201 2,473 4,674
/INFFRET4 TH 1,584 1,495 1,514 3, 009
KEd s 1,062 1,170 1,149 2,319
KFEFE 2, 377 2, 569 2, 655 5,224
KFAH A A 728 625 17 1,342
== = 851 993 989 1,982
KFEdsit 76 111 89 200
1 T H 914 991 1,033 2,024
2 TH 976 1,093 1,113 2, 206
B3 T H 874 780 889 1, 669
B4 TH 678 690 796 1,486
w5 TH 791 798 875 1,673
KFRZT 326 314 331 645
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BI54E8 H K H BiAE
my 4 A AR (B AR (&) AR GH
KT 204 249 235 484
KPR 815 953 983 1,936
RF-H HH 144 182 180 362
KFBTH 148 182 162 344
KFHIH 16 21 19 40
KFFE A 464 544 497 1,041
Pl 1 TH 1,059 1,024 1,139 2,163
il E2TH 1,139 1,151 1,204 2, 355
=M1 TH 943 1,001 1,077 2,078
M2 TH 355 324 387 711
3 TH 827 852 878 1,730
A TH 1, 200 1,132 1,175 2,307
HRLAr 1 TR 1,641 1, 482 1,612 3,094
WL F2 TH 1,422 1,540 1,557 3,097
Bkl 3 TH 777 827 925 1,752
WL F4 T H 368 226 307 533
WL E5 T H 160 152 170 322
WL 6 TH 594 482 576 1,058
Pl 1 TH 1,085 1,125 1,089 2,214
w2 TH 324 334 369 703
farE1TH 1,501 1,437 1,392 2,829
My 2TH 688 728 743 1,471
M3 TH 861 831 847 1,678
#1TH 277 342 304 646
H2TH 269 327 327 654
#3TH 1, 404 1,412 1, 460 2,872
= &1TH 365 445 404 849
= E2TH 191 219 221 440
= &3TH 287 355 338 693
=E4TH 425 486 452 938
—&5TH 681 719 699 1,418
HEA 342 409 389 798
| 226 279 284 563
WA2TH 942 915 894 1,809
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D548 H K HHIE
i) % A (59) AB (%) UNEGD)
WA3TH , 067 1,383 1,514 2,897
WAR4TH 113 82 127 209
WA7TH 337 350 369 719
WA TH , 542 1, 157 1, 400 2,557
FRER1ITH , 739 1,863 1,918 3,781
FRER2TH 942 1,004 982 1,986
1 TH 234 254 267 521
2 TH 487 593 629 1,222
It 3TH , 033 1,139 1,168 2,307
4 TH 60 80 70 150
e [ B 356 425 396 821
bR T 630 575 643 1,218
FT AT 592 713 729 1,442
WETIR1 T H , 473 1,481 1,316 2,797
WATIR 2 T H ,374 2, 644 2, 451 5,095
WRETIR 3 T H , 564 1,646 1,474 3,120
WATIR 4 T H 450 529 471 1, 000
WAETIR5 T H 819 775 743 1,518
WATRFIE 1 T H , 334 1,447 1,294 2, 741
HWHTRFIE 2 T H 310 1,359 1,303 2, 662
WHTRAIE 3 T H 862 952 872 1,824
<TDEHE1ITH 434 292 375 667
<TDEH2TH 715 660 598 1,258
<TDEHE3ITH 890 727 818 1,545
HER 1T H 149 153 142 295
TER2TH 411 526 502 1,028
HEm 3 T H 547 604 589 1,193
TER4TH 598 649 647 1,296
MMRE1TH 678 761 782 1,543
MMRE2TH 710 767 845 1,612
INFFRFE1TH 550 614 677 1,291
INFEFRFE 2 TH 546 572 619 1,191
INFfER 3T H 894 1,015 967 1,982
INFfER4 T H 801 972 964 1,936
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BI54E8 H K H BiAE
i) W A (59) AR (&) AR GH
INFHER 5 T H 562 764 686 1, 450
/INFFERG 6 T H 605 595 624 1,219
/INFFEET 5 T H 584 591 592 1,183
WNFRRTET 1 T H 763 766 727 1,493
/WNFfRTET 2 T H 562 616 599 1,215
/NFFRTHT 3 T H 825 1,038 1,037 2,075
JEEFHHET 1 T H 91 105 116 221
LB 2 T H 26 36 21 57
¥ 1 TH 279 313 311 624
¥ 2 TH 156 182 183 365
¥ 3 TH 189 140 199 339
B 1 TH 102 123 128 251
kB2 TH 141 177 175 352
B3 TH 144 170 177 347
EFH1TH 822 803 814 1,617
E#FH2TH 1,255 1,378 1,346 2,724
EHFIE3ITH 1,401 1,566 1,575 3,141
EHFI4TH 1,330 1,438 1, 550 2,988
EHFIESTH 1, 687 1,886 1,915 3,801
INEEE 888 974 966 1, 940



















